BUDGET / CONTRACT CLOSER
FC-3000 SERIES

SHEET No.

3:19

‘ TITLE
ARCHITECTURAL HARDWARE

INSTALLATION INSTRUCTIONS

Standard installation
Closer mounted on door on pull side

for opening to 120° - 241
for opening to 180° - 171

— 445

2 holes for
#14 wood

orM6x 1.0
Shaft _ = r

Arm screw and  Arm shoe
lockwasher

— for regular power

Arrow mark  |Arm shoe

Arrow away from hinge edge
— for maximum power

I
. 50 50
Speed regulating screw 4 #10 wood or Cover cap
forward hinge edge of door M5 x 0.8 Machine screws
for opening to 120° — 229
for opening to 180° — 159
CLOSING POWER ADJUSTMENT POSITION OF ARMS AND INDEX SETTINGS
Arrow toward hinge edge H $ % (H)

Right hand door shown

Same dimensions apply for left hand door

measured from hinge edge

Index mark

Right hand door. Use index mark 4

90°
Forearm ==
Bolt

Elbow
Index mark

Left hand door. Use index mark 1

Top jamb installation
Closer mounted on top jamb on push side of door.
Reveals of 70 to 127 requires long top jamb forearms

for opening to 120° - 222
for opening to 180° — 165

4 #10 wood or
M5 x 0.8 machine screws

Cover cap g

Speed regulating screw

for opening to 120° — 229
for opening to 180° — 171

haft
toward hinge edge of door T 5 Arm screw and
‘ 2 holes for lockwasher
445 #14 wood Arm shoe
or M6 x 1.0

machine screws

CLOSING POWER ADJUSTMENT

Arrow mark \Arm shoe

— for regular power

— for maximum power

Arrow toward hinge edge

Arrow away from hinge edge

POSITION OF ARMS AND INDEX SETTINGS

Left hand door shown

Same dimensions apply for right hand door

measured from hinge edge

Index mark

Left hand door. Use index mark 1

Right hand door. Use index mark 4

PailBide
gPUUR

THE PARKSIDE GROUP LTD

THE WILLOW CENTRE
17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX

SCALE

NTS @A4

DATE

MARCH 2014

Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

For scaled technical or CAD drawings,
please contact AXIM.



VN TITLE BUDGET / CONTRACT CLOSER SHEET No.
MD M FC-3000 SERIES 3:20
SUBTITLE  |NSTALLATION INSTRUCTIONS
ARCHITECTURAL HARDWARE

Parallel arm installation
Closer mounted on door on push side

Parallel Bracket
(Option) X

2-M6x1.0

Left hand door shown
Same dimensions apply for right hand
door measured from hinge edge.

for opening to 120° - 180
for opening to 180° — 141

67| machine screws

45

| "4 #10 wood or
M5 x 0.8 machine screws

for opening to 120° — 100
for opening to 180° — 64

445

- Speed regulating
screw away from

222

Arm screw end
Lockwasher

hinge edge of door

Lo 3 holes for #14
N wood or M6 x 1.0
machine screws

Parallel Bracket

..@ Adjust main arm 20 or3°
from parellel with door

POSITION OF ARMS AND INDEX SETTINGS

1
e

Index Mark

Index Mark

Pull side of door

Step 1
A. Check hand of door.
B. Select type of installation.

Pull side of door

Step 2

This is a LEFT HAND DOOR

N | [ ~
Push side of door Iﬁ Push side of door

This is a RIGHT HAND DOOR

A. See instructions for installation
you have selected.
B. Follow instructions for correct

Latching speed
Regulating Screw

r

Closing speed
Regulating Screw

Closing Speed

application and adjustment.

Step 3

A. Apply closer body and forearm
(or parallel bracket and forearm)
to door and frame as shown.

B. Place main arm on shaft at
proper index mark as shown
and tighten arm screw with
lockwasher securely.

C. Adjust length of forearm as
shown and attach to main arm
at elbow and tighten locknut
bolt.

“ Latching Speed

@ Foream | oft hand door, | Right hand door, o™ @
use index mark 3 | use index mark 2
lllustration ‘A’ lllustration ‘B’
CHART FOR HAND OF DOOR Instructions Step 4

Fixing cover cap on shaft at
unused side and insert rubber
plug into one of unused fixing
hole on body then slide in the
Faceplate.

Step 5

Door closing and latching speeds
are controlled by #1, #2 speed.
regulating screw separately.

A. Clockwise turns slow

the Speed.
B. Counterclockwise turns
increase the speed.

A Member of

Pail€ide

THE PARKSIDE GROUP LTD

SCALE

NTS @A4

THE WILLOW CENTRE

DATE

MARCH 2014

group

17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX

Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

For scaled technical or CAD drawings,
please contact AXIM.




A
#X M

ARCHITECTURAL HARDWARE

TITLE BUDGET / CONTRACT CLOSER
FC-3000 SERIES

SHEET No.
3:21

SUBTITLE  HOLD OPEN ARM (FRICTION TYPE) FC-422-AL

%

H
U

(86)
1
\ L
I
I

4R

)

(1

N
—
N

L

255

A Member of

THE PARKSIDE GROUP LTD

THE WILLOW CENTRE
17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX
Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

SCALE NTS @A4

DATE MARCH 2014

For scaled technical or CAD drawings,
please contact AXIM.




VN TITLE BUDGET / CONTRACT CLOSER SHEET No.

A2 M -
SUBTITLE  HOLD OPEN ARM (FRICTION TYPE) FC-422-AL

ARCHITECTURAL HARDWARE

ARM SCREW AND
«— LOCKWASHER

HOLD OPEN ARM
MAIN ARM

THE PARKSIDE GROUP LTD SCALE | NTS @
THE WILLOW CENTRE DATE MARCH 2014
17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX
Tel: 020-8685 9685 Fax: 020-8646 5096 For scaled technical or CAD drawings,
Email: axim@parksidegroup.co.uk please contact AXIM.
Web Site: http://www.axim.co.uk




TITLE BUDGET / CONTRACT CLOSER
FC-3000 SERIES

SHEET No.

3:23

A
#X M

ARCHITECTURAL HARDWARE

SUBTITLE  pARALLEL BRACKET FC-815-AL

60
44.4

2-M6X1.0-2 TAP

}

—h
1/

7

&
I
44.4

~

|
44%*44
\
—
N
|
\

26.2
7 : 7 : %
%
95 !
98.2
THE PARKSIDE GROUP LTD SCALE | TS Gnd
THE WILLOW CENTRE DATE MARCH 2014

17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX
Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

For scaled technical or CAD drawings,
please contact AXIM.



D TITLE BUDGET / CONTRACT CLOSER SHEET No.
MD M FC-3000 SERIES 3:24
SUBTITLE  FLAT DROP BRACKET FC-517-AL

ARCHITECTURAL HARDWARE
181.0
73.0 | | 73.0
34.9 34.9 §
[E
‘
. 4-07
CO.5 . ~
\ (12x8) ~
4 —M6X1.0P 9_7
162.0 9.5 t4.4~47
SCALE NTS @A4
T THE PARKSIDE GROUP LTD @
Parbgide THE WILLOW CENTRE DATE MARCH 2014

group

17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX
Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

For scaled technical or CAD drawings,
please contact AXIM.



TILE BUDGET / CONTRACT CLOSER SHEET No.

MD M FC-3000 SERIES 3:25
SUBTITLE  HOLD OPEN ARM (PLUNGER TYPE) FC3000-122-AL

ARCHITECTURAL HARDWARE

FOREARM

HOLD NUT

CAM PLATE
MAIN ARM
SCALE NTS @A4
THE PARKSIDE GROUP LTD
THE WILLOW CENTRE DATE MARCH 2014
17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX . ]
Tel: 020-8685 9685 Fax: 020-8646 5096 For scaled technical or CAD drawings,
Email: axim@parksidegroup.co.uk please contact AXIM.
Web Site: http://www.axim.co.uk




Yy ¥ TITLE BUDGET / CONTRACT CLOSER SHEET No.
MD M FC-3000 SERIES 3:26
SUBTITLE  INSTALLATION INSTRUCTIONS
ARCHITECTURAL HARDWARE
Parallel arm installation Parallel
Closer mounted on door on push side Bracket
ptooomo-oomomooo- O ””””””””””” 1 T
700 imoonaponaoocaoog e 4 holes for Shaft
oo Shaft =/ #14 wood or
(2%
| @) 1 — s - 20 machine —
100 [G j% screws. Q@
e T @ S
! Cover Cap @ \ L~
N _ 162.0 _
i \’ 6%) = I Speed regulating screw Cover Cap
away from hinge edge of door.
for openings to 105°- 220 (82'/3)
for openings to 180°- 150 (5%
; ° " LEFT HAND DOOR shown.
f to 105°- 230 (9°
fg 8522:282 tg 180°- 160 E6‘é22) Same dimensions apply for right hand door
measured from hinge edge.
L /‘ 445 Arm screw
| Yy and lockwasher
POSITION OF ARMS AND INDEX SETTINGS
22.2
| I R[5 W
190 *ﬁ? r Index mark —Tianam© Index mark
AN | 7.9 frg rg%ama“n’armz or3” @
. rallel with dog -.m,m.,
3holes for (/) : ) . KK
#14 wood or
14, - 20 machine Forearm  Locknut Locknut Forearm
SCrews. Left hand door. Use index mark 3 Right hand door. Use index mark 3
Parallel bracket

CHART FOR HAND OF DOOR

PR

Pull side of door

Instructions

Step 1
A. Check hand of door.
B. Select type of installation.

.. Pushside of door

Step 2

‘ ] A. See instructions for installation you have selected.

Push side of door
This is a LEFT HAND DOOR

Push side of door B. Follow instructions for correct application and adjustment.

This is a RIGHT HAND DOOR
Step 3

A. Apply closer body and forearm (or parallel bracket and

Closing Speed
Regulating Screw

Latching Speed
Regulating Screw

o

forearm) to door and frame as shown.

B. Place main arm on shaft at proper index mark as shown
and tighten arm screw with lockwasher securely.

C. Adjust length of forearm as shown and attach to main arm
at elbow and tighten locknut.

Step 4

Slow Snap cover cap over shaft at unused side.

@)

Fast

Step 5

Door closing and latching speeds are controlled by #1, #2
speed.

Regulating screw separately.

A. Clockwise turns slow the speed.

B. Counterclockwise turns increase the speed.

Latching

Closing Speed
Speed

SCALE NTS @A4
T THE PARKSIDE GROUP LTD @
Pa_'[' Side THE WILLOW CENTRE DATE MARCH 2014
group 17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX

For scaled technical or CAD drawings,
please contact AXIM.

Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk




VN TITLE BUDGET / CONTRACT CLOSER SHEET No.
MD M FC-3000 SERIES 3:27
SUBTITLE  |NSTALLATION INSTRUCTIONS
ARCHITECTURAL HARDWARE

Standard installation
Closer mounted on door pull side

for openings to 105°- 280 (1174)
for openings to 180°- 203 (8")

s

| 44.5 |

!

|
25 (%;)‘T i ®

| s

) Speed regulating ~d
screw away from kr) \
hinge edge of door ‘ 162.0 (6%") ‘

for openings to 105°- 177 (6 %)
for openings to 180°- 101 (3 3'47)

53 (2'/)

2 holes for #14 wood or
/4 - 20 machine screws.

Arm screw and
lockwasher

,,,,,,,,, ,}f 19 @)

4 #10 wood or M5 x 0.8 (10 x 24)
machine screws.

Arm shoe

CLOSING POWER ADJUSTMENT

POSITION OF ARMS AND INDEX SETTINGS

Arrow toward hinge edge

— for regular power ©
. 3
Arrow mark  Arm shoe Arrow away from hinge edge (y »
— for maximum power - Main arm
\_/

Right hand door shown
Same dimensions apply for left hand
door measured from hinge edge.

Index mark
Right hand door. Use index mark 4

2

~ w
Main arm ’

N

Forearm—_|

Elbow

Index mark
Left hand door. Use index mark 1

Top jamb installation

Closer mounted on top jamb on push side of door.
Reveals of 70 (2 #4") to 127 (5”) requires long top jamb forearms.

for openings to 105°- 177 (6 %)
for openings to 180°- 101 (3 %'/

o 162.0 (6%")

Speed regulating
screw toward hinge

4 #10 wood or M5 x 0.8 (10 x 24)
machine screws.

Vb

edge of door :
,,,,, ‘,,,,,,,,,,,
25(%%@1 1 @
T

i

Shaft

\\ F(13)]

for openings to 105°- 280 (11"45)
for openings to 180°- 203 (8")

19 (h)

53 (2'/)

[44.5 | N2 holes for #14 wood or

4 - 20 machine screws.

Arm screw and
lockwasher

Cover Cap
\ |

CLOSING POWER ADJUSTMENT

B9

Arrow mark ~ Arm shoe

Arrow toward hinge edge
— for regular power

— for maximum power

Arrow away from hinge edge

Forearm

Left hand door shown
Same dimensions apply for right hand
door measured from hinge edge.

—
Index mark Elbow

Right hand door. Use index mark 1

Forearm

Elbow
Index mark

Left hand door. Use index mark 4

PailBide
gPUUR

THE PARKSIDE GROUP LTD

THE WILLOW CENTRE
17 WILLOW LANE, MITCHAM, SURREY, CR4 4NX
Tel: 020-8685 9685 Fax: 020-8646 5096
Email: axim@parksidegroup.co.uk
Web Site: http://www.axim.co.uk

SCALE NTS @A4

DATE MARCH 2014

For scaled technical or CAD drawings,
please contact AXIM.




